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1.1 pastneld IC lwes 7432

A1N1Sa0AINDOILNG Y=A+B
Vee B4 A4 Y4 83 A3 Y3
lld 13 12 1 10 q 8

I: T Inputs Output
>— >_‘ A B Y
L L L
r14:>_ | L H H
H L H
H H H
1 2 3 4 5 6 | 7

Al B1 Y1 A2 B2 Y2 GND




1.2 wauaLna s 1C wes 7408

dun1sanInuaunn® Y = AB
Vee B4 Ad Y4 B3 A3 Y3
14 13 12 1 10 9 8
1 2 3 4 5 [ 7
Al 81 Yi A2 82 Y2 GND

Inputs Output
A B Y
L L L.
L H L
H L. L
H H H
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1.3 Heanald IC wes 7404

= =1
dUN1IA0AINUDEALNH Y=A
V. Ab Y6 a5 ¥ ad Y4
|Ia1 13 12 11 1) 4 8

>0

- >o-

{>o-

Al

Y1 A2

Y2 Al

¥3 GND

Inputs Output
A ; 4
L H
H L




1.4 upsineld 1C twes 7402

41N15a03NUDSLNA Y = A+B
Vee Ya B4 a4 ¥3 83 A3
|14 13 12 11 10 JE E

{J Inputs Output
4°<. a ¥

=l

= T ™ T
e ™ E ol B
g’ pll ol -

¥1 Al B1 Y2 Al B2 GND




1.5 wuuaLtn@ld IC wes 7400

dun1saaNLuuaLnm Y = AB

L ] Ajd Y3 Bd Al Y3
13} 12 n 10 9 H]
I—_DO_ Do_ Inputs Output

: A B h 4

L L H

[ o 1 H H

= ’ L ¢

? 1 a 5 6 Ir H H -

B1 Y1 A2 B2 Y2 GND
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1.6 Wondagdneasinaly IC Luas 7486

=Y =4 e = 8
aumi’a@am@ﬁomgwl@mmw Y=A @ B

Vee B4 A4 Y4 B3 A3 Y3
14 |13 |12 11 10 9 8

L

A1 B1 \A A2 B2 Y2 GND

Inputs Output
A B Y
L L L
L H H
H L H
H H L




2.1 2995995109

d41N15a03N005LNA Y=A+B

n1sVeandldlediuns 7432

INPUT OUTPUT
A B Y
0 0
0 1
1 0
1 1




2.2 1ASLOUALNH

41N15ADINLDUALNG

1
3
23—Y

Y =AB

A1sneanldlediuas 7408

INPUT OUTPUT
A B Y
0 0
0 1
1 0
1 1




2.3 WATUDALNE)

A 1‘;2 %

a & —
AUNTADINUDALNE Y= A

6 2

n1snaaedlylediues 7404

INPUT OUTPUT
A Y
0




2.4 1395UBDILAN

2\
o 3) >
dumsaednuesinn Y = A+B
nsnaaealdlediues 7402
INPUT OUTPUT

A B Y

0 0

0 1

1 0

1 1




2.5 1995ULUUALNA
A 1 3 v
B__ 2

dun1sapdnuuuaLN® Y = AB

n1snaadldlediuas 7400

INPUT OUTPUT
A B Y
0 0
0 1
1 0
1 1
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2.6 WIsLONTIAgTHDOIING

a2 O
/.
aunsasdndndagdneasinn Y = ADB
n1sneaealslediues 7486
INPUT OUTPUT
A B Y
0 0
0 1
1 0
1 1




2.7 1WISULDUALNA 3 DUNA

3
4
5

OwX>

dunisandnuauang Y = AB.C

n1snaaedltlediues 7411

INPUT OUTPUT
A B C Y
0 0 0
0 0 1
0 1 0
0 1 1
1 0 0
1 0 1
1 1 0
1 1 1
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A3
B
C

d41N15a03NUDSLNA Y=A+B+C

n1snaanaltlediues 7427

INPUT OUTPUT
A B Y
0 0
0 0
0 1
0 1
1 0
1 0
1 1
1 1
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